R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.9-11.dwg, FL-15213.10

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building Code
(FBC) structural requirements excluding the "High Velocity Humicane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind bome debiris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the 2010
FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

—

Typical elevation, design pressures, & general notes

Door panel details

37.50" MAX. OVERALL

~——51.50" MAX. OVERALL FRAME WIDTH

FRAME WIDTH

82.00" MAX. OVERALL FRAME HEIGHT - INSWING
80.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

INSWING

51.50" x 82.00"

21.00" x 63.00" | 5.87" x 63.00"

Frame anchoring - 1X buck masonry construction

Vil [N[ON | iWIN

Bill of materials, glazing detail & components

OUTSWING

51.50" x 80.50"

21.00" x 63.00" | 5.87" x 63.00"

14.00" MAX. OVERALL
FRAME WIDTH

+50.0 -50.0
+50.0 -60.0

Documents Prepared By:

67%/ 20212

P.O0. Box 230 Valrico FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.

Phone No.: 813.659.9197
Florida Board of Professional Engineers
Certificate Of Authorization No. 9813

Ry

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

NOJ DATE

oATE: 02/16/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.10

sieer 1 oF 9

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SLANYLTINENDOD aNIQTINE "M'd" 108 @

B0PEY ‘ON "T'd “IPIUUDS "4 UOPUA] SNOISIAZY .
Lzt STVIIa TINVJ ¥00d Ad EILICIIN ] B N Y I
£186 "ON zuouthy 4O eooRIeD . NSy oW
sioeuibug (DUOISSDI0IL 1O PIDOE DPMOIY SAIFGNESSY M0 Laivd Mm = . m &

LELE'BSO'CLE TON euoyd H000 SSV194381d /Od, = gw 2_
GBEEE "Id OSMIDA 0£Z X0 "O'd \N\N@ *ONI OddLSYd (=] B & # 2 |
*ONI SINVLIINSNOD ONIGNE i w 1M W
1Ag pespdeld ejuswnsog -1oNaodd S m 5 w
3 S (® 3
@ . , :
£ =
£ g
= | o
L ) ) ~ o
R R = X xR S
o
o o
| = s
© =
i oo

= ma E,m
g 5 5 1 ak
%.lﬁTaEJM mw mm
@ = 3
+ A? LA <3 - 45— mm
AL 250
o ® ©
S
, S
=
[
= mm
® : i
al M - 66" —] Q
/4 8
o o o
(a4 (%4 M
& = = - .zl
- ) 9 ~ &1 | 50
/4 ae FVM + Mm
O + =la. . =8
- 5 M.m o o8
2 38 : 5z
mw M |3 i a0
® (2)
&
.
MW
. 8
e N3

J——

PANEL WIDTH
-

35.75" MAX,
DOOR

——

b
f’ JHOEH O TA XYW .00e9

~=— IHOIFH TINVd 000 "YYW 5T°6L —

0T'Z 'BMPTT-6'€TZST-14\0T0Z\sBuimesq Damy ‘a\z8ST 4d\009T - TOST fosd\siopjo4 199foad\s18fold - w\:y



TON] BANYLATINSMOD SNIGTUNES M"Y B LOS @

@:omnw “ON “T'd ‘IPIUYDS "4 UOPUA] SNOISIAZY -
Sl :% SIVL3A TINVA 3LTIAIS Ad avd_TONIN) [ || =9

¢Le8 "oN uopbziity O S10DMeD ¥ -3 J by
EDUEmDCN [DUojEBRiOl JO PIDOE DPLOLY u>Jm§mmm< mo n—.m(& Mm vl“ o9 M.'L w
LBL6'6S9°CL8 FON Suoud ¥00a SSY19¥3l4 NE 2.2 |m|

$655¢ 14 OOHIDA 0FZ x08 "O'd \Sﬁnﬁ "ONI 0¥d1SY1d S|, |8|&lg
"ONI ‘SINVLINSNOD ONIdINg i m iy W 2B
:Ag pedodesd sjuswinsog -LONQ0Yd & m W %

-
(a4 ) O
2 & © g
[a°
[AN] ELy
| — L% ]
= A} a
\ o
S I S s =
e U
=
(a4 By
@) = >
o L)
: o)
Lid

—= = 0.66"

LATCH & HINGE STILE
Lvl wood reinforcement

()

.. 46—

i 4
; : ol 2 B
3 LE2TY 2
L T =5
: a T %
/4 “ e Slo
1/ w e
& x &
B E =
i = 5
- m
@ : m
g Q
& Sl
My
@0

= =
w2 22
=22 =2
oo ko
?Z R4 o
- o o) m
| a
I V = S .._H‘,.ﬂ.‘u,“n,i,.,. ———— 1, @ M
ﬂ l»| e cme
THOBEH "O'TA XYW 009

~=—IHOIFH TINVd ALN3AIS XYW .ST 6L —=

0T'€ 'BMPTT-6'€TZST-14\0T0Z\sBUIMRIQ DIMY "A\L8ST 4d\009T - TOST foad\s1apjo4 199f0ud\s1d8f0Id - Y\



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 4.10

EXTERIOR

NOTE1 EXTERIOR

e

N

INTERIOR

1-1/4" MIN.

INTERIOR

/“ 4\ HORIZONTAL CROSS SECTION

w Inswing configuration

EMB. (TYP.)

4

0.15"
=— C'SINK
(TYP.)

RS

%

|® ©

,bv -

(8)

NOTE:

1. Sidelite panel secured to the sidelite
frame with (4] of item #M located
10", 30.5%, 51" and 71.5" from top of

each jomb and (2} of ifem #M in
the head, 3" from each end

7 INTERIOR

N SR

&

/~\.
®

EXTERIOR

/"1 \ HORIZONTAL CROSS SECTION

\y Outswing shown - inswing
also approved

©

/"2 \ HORIZONTAL CROSS SECTION

w Outswing configuration

1-1/4" MIN.

EMB. (TYP.)
@ M Ii%TE} v,
INTERIOR o
-~
EXTERIOR
4 39/\%
/75 "\ HORIZONTAL CROSS SECTION
WShown w/1X sub-buck
SEE -
NOTE | o
INTERIOR @%/7 ,
q
S h/ o A
@/t ‘
EXTERIOR '

@@ ]

0.15"
C'SINK —=
(TYP.)

s

/

7“3\ HORIZONTAL CROSS SECTION

w Outswing shown - inswing

also approved

1-1/4" MIN.
EMB. (TYP.)

No. 8813

Cerp

o2

£~

BUILDING CONSULTANTS, INC.

P.0. Box 230 Valrico FL. 33585

Phone Neo.: 813.659.9197
Florida Board of Professional Engineers

Certificate Of Authorizati

Ry

Documents Prepared By:

2

Lyndon F. Schmidt, P.E. No. 43

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

L
<
[
S
=
2

pATE: 02/16/'1

scalE:  N.T.S,

Dwe, By: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15213.10

SHEET 4 OF_9

© 2012 R.W. BUulLDIiNG CONSULTANTS ING.



TON| BANVLINSNDD BNIGHRE MY 8108 §

— 80¥EF 'ON "I'd “IPHUMIS 4 uopuly SNOISIAGY i .
Tz 204 SNOLLOZS SSO¥D Tvouyaa |28 WAL slxele| 5@
*ON UOHDZL S3DOUIISS :
cioeuibu3 IbuctsEesosd 36 PIoOG PPLIOL] XTBNISSY_H0_IiVd [ e P
LBLE'6E9°CL8 TON suoud 4004 SSV19438l4 W_v ) gw Sm
GeSEE 4 OOMIBA OFZ %08 "0'd \Summ. "ONI 0¥dLSYTd S| |&|&le T
"ONI ‘SINVLINSNOD ONIGING i m 1|2 | B
:Ag pespdsid sjuswinsog -LoNdoHd 5 m M M %
('dAL) "aw3
NIW F/1-1
66
< .
. o o @W\/
S m m o )
n F ., ® i
: zl § z L S
v = S =
< Y . “ 9
N 3 W k AN v
) - . 4 5
< N ~3 m ..nUw gy | “ e m 5
v C VSA - . C qu
<= = I <0
ANAY mleI ﬂ_‘k kﬂ R m M
4 ol a2l = ‘\\ g =S
wil 2 2 - 1Al
® B .n & @6\ .
__n_lL E , \ st a
G P @
() nv, e
L¢ ’

Fas

@ |

(*dAL) “gwW3
NIW b/ 1-1

(dAL) "awa
NIW ./ 1-1

o
Vq. ) ,q., , fa'4 [a'4
U : O =2 O =
) v, m 0 oc o
e —_._.I-r._ m E =
.ﬂ‘ . IN! E.mu m ﬁ-h.\._" o
vV . .w SW ““".m
il .5 ey D
, Ol Ol
e Wd B
Ul o 8] 5
~ Mmm 3/°
| P |28 U2
SE =2
38 N =13
m & .
(=) @ B mw NG mw
o i L
S i o
/.l.\/f
(*dAL) “aw3
"NIW #/1-1

0T'S ‘BMPTT-6'€TZST-14\0T0Z\sBumelq JaMmy ‘a\L8ST 4d\009T - T0ST foid\siapjog 199foud\s18f0id - Y\



LA . =

a

.

<2
V o~

©

77—

SEE
NOTE 1

1-1/4" MIN,
EMB. (TYP.)

J—®)

NOTE: @

1. Sidelite panel secured to the sidelite @
frame with (4} of item #M located
10", 30.5", 51" and 71.5" from top of

"

SEE
NOTE 1

EXTERIOR INTERIOR each jamb and (2] of item #Min EXTERIOR INTERIOR
— - the head, 3" from each end —_— ———
/ 1"\ VERTICAL CROSS SECTION /" 2"\ VERTICAL CROSS SECTION
w Outswing shown - inswing \y Shown w/1X sub-buck
also approved
EXTERIOR INTERIOR
V/
Za
SE N-—@
T
o
Z g g v
LA 'd, o
/3 \ VERTICAL CROSS SECTION
w Outswing shown - inswing

also approved

1-1/4" MIN.
EMB. (TYP.)

P.0. Box 230 Valrico FL. 33585
Phone No.: 813.659.9197
Authorization No. 9813
el 12

BUILDING COMSULTANTS, INC.
Florida Board of Professional Engineers

Documente Prepared By:
CortiﬁcatZ)f

2
=
e
S (&)
=3= I
v
8%5 %
%og &
Qcf L
il ) =
= 2
i L =
5 &l &
(=)
el |E
. 0.
S
o
%)
=
<
2
|
o
s
S
O
z
oaTE: 02/16/12
scale:  N.T.S,
DWG. BY: JK
CHK. BY: LFs
DRAWING NO.:
FL—~15213.10

SHEET 6 OF 9

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 6.10

Lyndon F. Schmidt, P.E. No. 43409

© 20712 R.W. BuiLDinGg CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 7.10

ecge 47

1°

|-

N
{l
I 3

TYP. HEAD Ii

MASONRY — & JAMBS
OPENING Hl

I
I

) MULLION /| :: ) ' |

e
11.25"

l
i

29"

19 MAX
ON CENTER

2X BUCK SHOWN FOR
N\ REFERENCE || ]
ONLY I &
I -
| U :
| I e
BUCK ANCHORING HINGE JAMB
CONCRETE ANCHOR NOTES:

1. Subsfitution of equal concrete anchors from a different supplier may have different edge
distance and cenfer distance requiremenis.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor fable:

‘EMBEDMENT
iTw /4 1-1/4° 2-1/2° 3
ELCO /4 1-1/4" 1" P

e 3"

RPAN
MASONRY 7

OPENING

FRAME /

| | | | o
ey —‘r/’— ———T
TYP. HEAD & e
JAMBS
-
3E W i
=&
o3
[ 574
-0 » B
— 38 - £8
=8 3=
Nz ©
° |
T —
r
TYP. @ SILL

FRAME ANCHORING

Masonry 2X buck construction

et
[l o
/R

HINGE DETAIL

41.25"

B_E;l
5.5" —*l !

STRIKE JAMB

/)
w

LATCH & DEADBOLT DETAIL

0
o ~
¢ o
2 5,88
3]
3 E) ‘r—\
gm E£5 -9
F4 ~ 20 4
dod . N g
- " g z
go":'ﬁz R
tm 6e M
Fgo §8 o
B> 88\ |o
Zow 5T 2
..On“n-o E
R £
§%§233A\w
Pt [ G h:
‘;‘gdégg\Jg
D_mn.n.mg 3
s g g =
c TP
L] [ 3]
P o
3
o
]
a
>
Nz
o
oS
25
o ED
e O&
[&) xI
=9 Tw
ownl. <8
e
S
Hog f
gMuJ =
L] 00 o
u.mg a
. [ >
5 xl <
5 o _x
o x5
2 B SR
o ol
>—
[aa]
02
=
-
\%2!
ol
o
L
S
o
e
oate: 02/16/12
scate:  N.T.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15213.10

SHEET 7 OF _9

© 2012 RW. BUILDING DONSULTANTS INOG.



Ri\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 8.10

| ——

2 |]]
—H
-8
&
LR

.

HINGE JAMB
CONCRETE ANCHOR NOTES:

s ag 0, 7 ¢ — 3"
RISy 2R e
T | | | | o
. A» . < g '—"//’— JRSE—
= TYP.HEAD &  —
7‘ JAMBS
MASONRY _
OPENING I
o
> ’L_'_J_ From—,
3z 1
3 TYP. @
~ Z . ar
je— O s Lib
AN e , MULLION . iz
. | — = 0
= é Sz
N 5
1X BUCK\
My I SR,
TR TYP. @ SILL

FRAME ANCHORING
Masonry 1X buck construction

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirernents.

2. Concrete anchor locotions at the comers may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER” must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

W /4

1-1/4° 2.1/ 3"

in
™
s
s
L o
STRIKE JAMB

w3gy| ©
~@®

Al
-

‘/‘
=

#

HINGE DETAIL

/
/4

LATCH & DEADBOLT DETAIL

No. €813

d

P.O. Box 230 Valrico FL. 33595
Lyndon F. Schrmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
Phone No.: 813.858.2197
Florida Boord of Professional Engineers

Cartificate Of Authorization

Ry

Deocuments Prepared By:

2'(’7-/&

PLASTPRO INC
FIBERGLASS DOOR
PART_OR_ASSEMBLY:

FRAME ANCHORING 1X BUCK

PRODUCT:

MASONRY CONSTRUCTION

REVISIONS

NOJ DATE

oATE: 02/16/12

SCALE:  N.T.S.

DWG, BY: JK

CHK, BY: LFS

DRAWING NO.:
FL—15213.10

SHEET 8 oF 9

© 2012 R.W. BuiLDineg CONBULTANTS IND.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.9-11.dwg, 9.10

4.56"

75"

1.22"

NN

bl

HEAD & SIDE
Jamb

213———»

BILL OF MATERIALS
ITEM] DESCRIPTION MATERIAL
A_| 1XBUCK SG >= 0.55 WOOD
B_| 2XBUCK SG >=0.55 WOOD
C | 1/4" MAX. SHIM SPACE 8
D | 1/4"X 2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL
£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F_| 1/4"X2-3/4" PFH TW CONCRETE SCREW STEEL
H_|1/4"x 3-1/4 PFH TW CONCRETE SCREW STEEL
|| 1/4"X2-1/4" PFH ITW CONCRETE SCREW STEEL
J_| 1/4"X 3-3/4" PFH TW CONCRETE SCREW STEEL
K_| #10 X 2" PFH WOOD SCREW STEEL
L_| #8X2-1/2" PFH WOOD SCREW STEEL
M_| #8X 2" PFH WOOD SCREW STEEL
7_| FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
8 | COMPRESSION WEATHER STRIP QLON 450 BY SCHLEGEL FOAM
9 | 4 X4 BUTT HINGE STEEL
10_| #9 X 1" PFH WOOD SCREW STEEL
T1_| #9 X 3/4" PFH WOOD SCREW STEEL
13 | #8 X 1-1/2" PFH WOOD SCREW STEEL
17_| KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18_| KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
21 | POLYFIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
30 | INSWING VINYL DOOR BOTIOM SWEEP BY ENDURA VINYL
31 | OUTSWING BUMP THRESHOLD ALUM,
32 | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. PVC
33 |INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM./ WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
35 | SHOE MOULD 5/8"X 3/8" WOOD
40_| DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41_| DOOR SKIN [MIN. 0.075" THICK] FIBERGLASS
42_|TOP RAIL CELLULAR PVC
43 | LATCH & HINGE STILE CELLULAR PVC
44 | REINFORCEMENT WOOD FOR LOCKS (20" LONG] WOOD
45 | BOTTOM RAIL CELLULAR PVC
46| POLYURETHANE FOAM BY NAN YA POLYURETHANE
47_| CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD
48| SNAP IN LITE FRAME ABS
49 | GLAZING COMPOUND SILICONE
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
51_| SIDELITE TOP & BOTIOM RAIL BY NAN YA CELLULAR PVC
55 | GLAZING SPACER ALUM,

5.63"

( : ) ADJUSTABLE INSWING THRESHOLD

L 456" E
- ,’:1
* ! 2.44" ! 2.13"

g

HEAD & SIDE
Poly fiber jamb

].38"

( : ) ADJUSTABLE INSWING THRESHOLD

"1 1.25" |

( :: ) QUTSWING BUMP THRESHOLD

0.5" GLAS
BITE

S

49

1" MIN.

GLASS THK.

1/8" TEMPERED

/ GLASS

)/
A

L. AIR SPACE

e

OPTIONAL
DECORATIVE INSERT

©

GLAZING DETAIL

48

G1

?

\\\—Auz SPACE
1/8" TEMPERED

GLASS

Z'/’?'/Z\

Yttt

P.0O. Box 230 Valrico FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

Phone No.: 813.659.9197
Florida Board of Professional Engineers

BUILDING CONSULTANTS, INC.
Cortificate Of Authorizotion No,~-9813

Documents Prepared By

&
Se
e gz
s °¥
=8 N
=0 ﬂﬂ-
29l =3
e T
28 <
ojel =
s K
5l |8 5B
2 °l
[a3]
(=]
- g
b
[aa]
(73]
=
-
2
ol
[n g
=
(]
o
=

paTE: 02/16/12

ScALE:  N.T.S.

DWG. BY: JK

CHK, BY: LFS

DRAWING NO.:
FL-15213.10

SHEET _9 OF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



